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5 3­9:02

0, 0.707, 1, 0.707, 0, ­0.707, ­1, ­0.707, 0, 0.707, 1, 0.707

5 3­9:21

;

­1.2939

    0.8311

5 3­9:36 5 3­10:04

5 3­10:17

 testovací:     t=[1  3]

   referenční 1:  r1=[2 4]

   referenční 2:  r2=[­1 3]

   Určete Euklidovy vzdálenosti vektoru t od r1 i od r2 a určete,

   který z referenčních vektorů je testovacímu blíže. 

5 3­10:20

 D = [1  5  3

        5  2  1

        4  3  6

        2  2  5]
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5 3­10:33

A = [ 0       1       0        0;

      0       0.6     0.4      0;

      0       0       0.7      0.3;

      0       0       0        0    ];

MI2=[1;2]; SIGMA2=[2;2];

MI3=[­1;­2]; SIGMA3=[2; 2]; 

o(1) = [0.5; 1]

o(2) = [1.2; 3]

o(3) = [1;   2]

o(4) = [­0.5; ­3]

o(5) = [­1;  ­5]

b2    ??????    0.0349    0.0398    0.0013    0.0001

b3    0.0098    0.0010    0.0033    0.0340    0.0129
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